('; Multiply by one digit numbers : word problems )

1.  Beryl owns a smart phone shop. She just ordered 6 shipments of smart phones. In

each shipment, there are 592 smart phones. How many Smart phones did Beryl order

inall?

2. Marry is the. manager of an automobile company. She has worked there for 9 years

She earns a salary of $ 260,385 per.year. How much money has she earne r this

—
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3. louisais a marble collector. She has collected 7 jars of marbles so far. Each j

contains 1, 928 marbles. How many marbles has Louisa collected in all
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Multiply by one digit numbers : word problems

Beryl owns a smart phone shop. She just ordered 6 shipments of smart phones. In
each shipment, there are 592 smart phones. How many Smart phones did Beryl order
in all?

To solve this problem, let’s multiply 592 by 6 to get the number of smart phones

592

X 6 a

3082

So, Beryl, ordered 3,552 smart phones in all

Marry is the manager of an automobile company. She has worked there for 9 years.
She earns a salary of $ 260,385 per year. How much money has she earned for this
past 9 years?

To solve this problem, let’s multiply $ 260,385 by 9 to get the money she has

earned for 9 years
$ 260 385
X 9

2343 465

So, Mary has earned $ 2 343 465 for the past'9 years.

Louisa is.a marble collector. She has collected 7 jars of marbles so far. Each jar
contains 1, 928 marbles. How many marbles has Louisa collected in all

To solve this problem, let’s multiply 1,928 by 7 to get the number of marbles louisa

has collected in all
1928
X 7

1,3496

So, Louisa has collected 13,496 marbles in all.
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